
 



 

 

 

 



8. For a dance routine, the choreographer has arranged for two dancers to perform jeté jumps 

in canon. Sophie leaps first, and one count later Noah starts his jump. Sophie’s jump can 

by modeled by the equation h = –4.9t
2
 + 5.1t and Noah’s by the equation h = –4.9(t – 0.5)

2
 

+ 5.3(t – 0.5). In both equations, t is the time in seconds and h is the height in metres. 

a) Solve the system graphically. What are the coordinates of the point(s) of 

intersection? 

b) Interpret the solution in the context of this scenario. 
 

 

                
 

               According to the graph, it seems that the point of intersection 

located at (0.75, 1.04). 

 

        b)  

                At the time of 0.75 s, both dancers are at the same height above the 

ground in their performance. 

 

 

 

 

 

 

 



 


